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LRI : MATHEMATICS ~ PartY
212 Time: 3 howrs R . . : Marks: 100
3|3 . . o0
Nnte' There are THREE Sections in thm ‘paper le. A, B & C. Attempt Section-A" and return it to the
- Superintendent within the given time. No marks will be awarded fon cuttmg, erasing and overwritlng ~
" Mobile Phones are strictly pmluhlted in Examination Hall, _
- Time: 20 miny nies, Section-A . Marks: 20

" QNo 1 Select the correc‘t ‘option and qhade (AR,C, D) fn the given Bubhle Answer Sheet

s

2.
11,

i,

vi.

vii.

viii,

Es

“ X
*ii.
xiil.
Xy,
Xv.
Vi,
xvii,
xvili,

XiX,

XX,

If i =.], llmn Z S

Ft ’ : ' : , o
A1 : s o D- 4 » -
0 1 ' T ' '
fsa - __ matrix. :
L 0] T ' Y’ '
A~ Tdoutity I3 Sealar - C- Diagonal I3 Nono
. Vhe multiplicative inverse of the complex numbgt _ l) T S
TA-(1,0) R-(-1,0) * " (0 n . D-(0, -1
IFA is 4 skew symmettic matrix, then A is_ .
A- Diagopal B-Triangular C- Symmemc ‘5“‘Skew-symmetnc' )
The recnprocals of the tering of a geainetric Henei isg. .. £
A-AS . B H.S L G.8 ‘ D-None -
- The projection of vcc(or a on vector s _ ’
A- f{!{ . S © = 9—?- C- 53 o ' D+ Neno ‘ : .
lblh 7 al N
The 10™ term of the sequence -8, -3, 2|7, is - . e S :
A5 .. B-43 a0 PR OSE: & B . “D- 37
2 2-‘" . '
k+1 T - : : '
L] .
3 Y1 | 2 | 1
A- -~ SR @f 2= : D- =
L : 3 . 13 3
If n{S) = 20 and n(E) = 2, then P(B) = ———e .
VAU B~ 10) et D-40
LY ‘ . Y. < 1 :
The inverse function off{ 2k ' e
A E23 B A Do xt2
2 2
Cogo (((Js8—~§l~ll~(—)) .
: codd B . . :
A~ ¢ot20 ©oB-o ' < G " Y@oszo
Number of terms in the expansion of (a + 2x)™ § is L ‘
A- -12 B B- 12 C? 14 : - None
T1Ef{x) = ,MI » then f( 1)1 ISWW _
X 1 ) y . ]
A-1 S OB-0 . Not defined D-e0
Cos"! (-X)“ o S . f
A-cos’'x ’ B- -cos™'x o Cesin'x ’ )1 -cos'x
In usual notations, the JI?M | S )
A- f‘f?f'. : A C. s - D- j.ﬁ
A . S A ) abe .
The vnit vector in the direction of ¢ and of magnltude 3 Is . e :
A- Ju R-3f - C- 3 D- 4
{8
(oaz)r—— SRR
A-840 - Imm : C-420 © T-204
The even function is symmetric sbouwt ,
~yeX B-x=0 . Cuy= D-(0, M)
“Which of the following inequalities contain origin (0, 0) inits solutmn region?
-x<-3 B x 24 C- x <0 Mess

Maximum value of y = 4 + 3 ¢og x4 s .
-7 _ B- .7 c-3 D-
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imé allowed 2:40 hours
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- MATHEMATICS — Part §

SECTION-B". " - Marks: 50

Answer any NlNE parts Each part earles equal marks.

i.

- i

iil,

viii. -

ix.

X.

xi.

xii,

- xiil.

Ynsert three arithmetic means between 6 and 41

Détcnnme whethar 1+2iisa ﬁolutxon of 72, 4Z +7=0,
' ynosa 0 ‘ysin g

‘Show that value of the determinent | 1 .1 0~ }-'y

l-sin@ 0 cosf

10 -2
Find ranof themateix | 2 2 1
-1 2 3

Solve the tnangle for whicha=9,b=7,0=5.

I‘md the area of pnrallelogram whose diagnnals gre @ = 41 4+ _| 15 2k,. . b= -2 + 3_] + 4k

Find the indicated tefm of the sequence l,_.l, ...... 9™ term. . - o

2’3"
Find the sum of n-dérimg of the seriey. 1224231+ 3400

A student finds that thc prnbnbxhty of pat:smp, an algebm tasts is g- What is the pmbabihty of

.-

failing the thl?

'Provolhm2{ >avVhneN

Find (without graphmg) the vertex, intefoopts and axig of f{x) = X+ 27: 3

cos(75°) - cosllS’) | iy

Prove the identit
ove el Y n(75") - qm(lS")
Shiow that giti"'x -+ cos” _x =3 A . .
P ' sECTiON-C 7 ' Marks: 30

Note: Attempt any THREE of tho following, All questluns Carry equal marks.

Q3

Q4:

. Q5:

Q6

8).
b)

b

a)

b)

a)
h)

‘I“or a AABC, qhow thatm‘; b paty rm g2

A mosque minar 84 metors hngh casts a shndnw 62 mcters long: I‘md the angle of elevation of
tho sun at that moment . . .
. i Ly, b, R
Use ,mathcmancal induction to establish that =+ >+ -— 4 a. bzl -
. : — 39 27" In2l 3n
Ji= 1;c 1x

I£ %’ is so small that x2 and highor pnwm may be neglected then show that —~p——— N =1 -5
{4+ dx

Tustri five arithmetic means botween 5 and 8 and sliow that their sum is five times the
“.arithmetic mean betwccn 5and 8. ' '

" x J N . .,

lfy—£+-i +-—~;+ ......... whm0<x<3.'1“hcnshowthﬂtxmn-?L
3y 3 ' : I4y

Use Cramer's rule to solve, % - 2y =, 3x by =l X 2 L |

Tind the sngle between thé vectors: ' ;‘i =i 2 k, r: o +-_ni'~'2lhc
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